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LINGUISTICS
Paper — 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

The processes by which a child adopts 4. Match the following with List — I and
to acquire a language, viz List — II and ghoose correct answer
T from the codes given below :
(i) acquiring syntactic forms from List — | List =11
meaning and, a. Agnosia 1. acquired difficulty
(1) acquiring meaning from forms ... re?dmg
. . b. Agraphia ii. impairment of
respectively are called :
voluntary and
(A) Semantic bootstrapping and purposive
syntactic bootstrapping movements
(B) Syntactic  bootstrapping and c. Alexia iil. 1nab11} tyto
. . associate meaning
semantic bootstrapping with sensation
(C) Form and content acquisition d. Apraxia iv.acquired difficulty
e in writing
(D) Content and form acquisition Codes -
a b C d
Assertion 1 : A deep dyslexic may (A) 1 v 1
interact with words but they are (B) v 1 L
not able to associate with the © ! ! v m
. . . D) 1 1 111 v
direct  phonemic  graphemic
relations with meaning. 5.  “Interpersonal communicative and
Assertion Il : Deep dyslexic may be cognitive processes that everywhere
termed as phonemic dyslexia. arfld always shape language” is the part
0
Codes : (A) Cognitive theories
(A) (I)is true, (II) is false. (B) Constructionist theories
) . (C) Usage-based theories
(B) (I} is false, (1) is true. (D) Construction  grammar  and
(C) Both (I) and (II) are true. phraseological theories
(D) Both (I) and (II) are false. . i )
6. A symbolic structure is nothing more
than the pairing of a
Blindness in one half of the visual field (A) syntactic —structure and a
is known as semantic structure.
(B) morphological structure and a
(A) Hemifield viewing syntactic structure.
(B) Hemiplegia (C) semantic  structure and a
. ) phonological structure.
(C)  Hemianopia (D) phonological structure and a
(D) Hemiprosis syntactic structure.
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10.

11.

12.

The lexical selection is dependent on
these following factors as in order
below :

(A) Conceptual, Syntactic  and

Phonological

(B) Syntactic,  Conceptual  and
Phonological

(C) Phonological, Conceptual and
Syntactical

(D) Conceptual, Phonological and

Syntactical

Which one of the following pairs is
correctly matched ?

(A) Receptive 1. non-fluent
aphasia

(B) Expressive  1i. Alzheimer’s
aphasia disease

(C) Pure aphasia iii. Alexia, agraphia
and verbal agnosia

(D) Primary iv. fluent

progressive

aphasia

The MT system based on statistical
method is

(A) Google translate

(B) Angla bharati

(C) Anusaarak

(D) Mantra

To articulate a central vowel the
tongue is

(A) forwarded

(B) retracted

(C) raised

(D) neither forwarded nor retracted

The ‘Pulse’ or ‘Motor’ theory was put

forward by

(A) D. Jones

(B) R.H. Stetson
(C) AM.Bell

(D) P. Ladefoged

In aspirated stops, voicing

(A) takes place throughout the
closure and release of the
airstream in the mouth cavity.

(B) takes place during the part of the
closure.

(C) starts immediately at the moment
of the release of the closure.

(D) starts considerably after the
release of the closure.
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13.

14.

15.

16.

Acoustic information regarding the
place of articulation of a particular stop
can be obtained from

(A) voice bar

(B) transitions

(C) vOT

(D) aperiodic vibrations

Assertion | : The machine used for the
analysis and measurement of
frequency, duration of speech
sounds, and the like is known as
a spectrogram.

Assertion Il : The output of the above
machine is a spectrograph.

Codes :

(A) Both (I) and (IT) are false.

(B) Both (I) and (II) are true.

(C) (D) 1s true and (I1) is false.

(D) (1) is false and (II) is true.

In any preliminary transcription if
separate symbols are used for two or
more variants of a single phoneme, the
phenomenon is known as

(A) Overextension

(B) Overdifferentiation

(C) Underdifferentiation

(D) Overcorrection

Match the following with List — I with
those in List — II and choose correct
answer from the codes given below :

List—1 List— 11
Insertion i. Skt.  jagama
‘he went’
Metathesis ii. Eng. pants > in
a variety of
eng. pans
Deletion iii. Eng. wasp <

old eng. waeps
Reduplication iv. Eng. film > in
a Variety of
eng. filom
Codes :
a b v d
(A) i ii iii v
(B) ii i iii v
(C) iv i il i
(D) i v i il
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10.

11.

12.

HIRNT (M) T ARG PRI T

fora s | ST &rem € 2

(A) UHeOHAHS, RIS qdr
LiEiEca

(B) ST, FhedATE gl
LSiEiEn

(C) MM, GehoTTcHS e
ATRIATEICHS

(D) HHeIHTHS, @HEEe
ARSI

?ﬂ%ﬁaﬁﬁ@aﬁﬁwwm@ﬁﬁ

0

(A) RETed s i, AF-%ue

(B) Temifae ST i, SToSTEER T

(C) @R s iii. TerfoRET,
TUTTAT e
e THITTAT

iv. "I

(D) WEHt iwifaa
ST

Wit fafy ¥ enia ug 2F fawen €
(A) T gl (B) e qRAl
(C) oTER" (D) ==

HE X & TR &g orgar -

(A) T AT E |

(B) U fasped & |

(C) WA E |

(D) T & 3 H AR S & T & I
faspedt & |

Uog’ el ‘WY fagid # uiques
B & 2

(A) SIS

(B) *RUH, Wad

(C) Tum.

(D) . cifewite

HETTOT 9T H, ST

(A) HEfgeR | TgUaE & TRy 31T
Hqrae &l Jaf d W AT T e |

(B) 1aY ol 376 o Uh 9T H Bl § |

(C) 7Y Hia- & Tohlel dIg STRET
BT |

(D) 3TERIY "I % JAL Y I AR
AT |
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13.

14.

15.

16.

el Tel-faviy o SR & ar |
e EHfaRTHwRE gor fHad o= s
AT § 2

(A) =9 IUE
(C) drenet

(B) HshHUT
(D) SFTET U

AWHAT | ;. TF @A T B SAGrA-
3y o forveioT T "I ¥ T
TN ! WFITH FHET ST ¢ |

AfWHeE 1l T WA & IS A
HZUTH hel STl %- |

FS

(A) (D) @91 (1) T TTora € |

(B) () 4T (II) I W& & |

(C) () WEg, (1) T & |

(D) (I) TToid &, (1) W& € |

hdl TR T § fpdt U -
foret =t <1 @ sifues i & forw geren-

Tefeh TIciiehi o T T SR et & 7
(A) AR (B) afdafadga
(C) —AfaNRA (D) aAfcemes

gt — 1 & AT & gAr — 11 & 3R "
Al ST dor I T T @i B
e ¥ HEl I AT

=it - | =it - 11

a. e TEhd jagama ‘he
went’

b. fow®  ii. 3 WST  pants >
TS TR 1 ST
T pans

c. foetm  iii. 3T wasp <
R SRS waeps

d. FEPEE v, I film > TH
T hl SRS H
filom

a b c d
(A i i iil v

B) i i i iv
C) iv i i i
(D) i iv i i
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17.

18.

19.

20.

The words in the List — I contain
affixes. Match the affixes in the List — [
with the types in the List — II.

List—1 List— 11
a. look —ing 1. prefix
b. un-do ii. interfix
c. speed —o—meter iii.suffix
d. German — gefragt iv. circumfix
‘asked’

Codes :

a b c d
(A) i i iv il
(B) ii iii i v
©) iv il il i
(D) il i i v

The English word ‘biotech’ is an
example of

(A) Blend
(C) Compound

(B) Back formation
(D) Acronym

The term ‘three dimensional

phonology’ refers to

(A) Generative Phonology
(B) Structural Phonology
(C) Natural Phonology
(D) Non-linear Phonology

Assertion | : Generative phonology
rejects the concept of phoneme,
but prosodic phonology does not

reject it.

Assertion 11 Both generative
phonology and prosodic
phonology reject the concept of
phoneme.

Codes :

(A) Both (I) and (II) are true
(B) Both (I) and (IT) are false
(C) (D) 1s true and (II) is false
(D) (1) is false and (II) is true

Paper-111

21.

22.

23.

Match the items in List — I with those
in List — II and select the correct
answer from the codes :

List—1 List— 11
Systematic, 1. Metrical
phonetic and phonology
systematic
phonemic
representation
Syllable 1. Autosegmental
prominence  and phonology
hierarchy
Tiers and iii. Generative
association lines phonology
Constraint 1v. Optimality
rankings theory

Codes :

a b c d
(A) il 1 1 v
B) 1 i v 11l
<) iv i 111 i
(D) i ii v iii

In the English word ‘handful’ the part
‘—ful’ is a/an

(A) inflectional suffix

(B) derivational suffix

(C) post position

(D) clitic

Assertion | : In optimality theory, the
well-formedness constraints are

grounded in universal
markedness principles. A
constraint reflects a wuniversal
tendency.

Assertion Il : Constraints cannot be
violated.

Codes :

(A) Both (I) and (IT) are true

(B) Both (I) and (IT) are false
(C) (D) is true and (II) is false
(D) (D) is false and (II) is true

S-31-13



17.

18.

19.

20.

T - 1% oo e e (ofEeR)
E 1 g - 1% ufeeds &g - I H
IRATOT TeRT & GHfeTd I

= - | = -
look — ing i. Tt
un — do ii. R
speed — 0 — meter {ii. ATHFT
German — gefragt iv. SEHHHERT
‘asked’
HS

a b c d

(A) i i v ii
(B) ii iii i v
(©) iv ii iii i
(D) iii i ii v

a o o e

IS ¥ ‘biotech’ FHfAfEd # &
ToheT T ST & 2
(A) M=

(C) &

(B) uwd fAHior
(D) uRavit v

‘Tromardt @Y fom’ U5 fRe wefa
EQGIR

(A) USHE @ Tas

(B) H{EHTHE @ (a3

(C) T @-e faam

(D) 3RiE® @Y fas

AU | ; USTTeh @A foxi @i=H i
HHCTT I STEABR AT T, TR

o7 W [ 39 ST R

T |

AHH || : I5HF @ fo= a2 o
@Y faEe g & @y w
HehoOT ol SATHN A & |

BT

(A) (1) T (1) T TR & |

(B) (1) T (I1) T Tord € |

(C) ()WEE, (1) T e |

(D) (1) T &, (II) W& € |

S-31-13

21.

22.

23.

e — [ 0 A T B et — [1 ! 7S o 91

goferd HifTT der = 5T 70 Hie & &t
Wﬂﬁﬂ?:
et - | =it - 1
a. WS @HH i, g
IESIEKR = fore
T
e Ui
b. R UMM TS ii. WETEUS
TRy i fas
c. feaxdem iii. USTE @A
TR @ faee
d. TR SUTRTOT i, ST T
fagid
B

a b c d
(A) iii i ii iv
B) ii i iv il
©) iv i iii i
M) i i v il

3RS 91 “handful’ & 9T —ful T :
(A) favufm seaa & 1

(B) FAAUTIE |

(C) THTE |

(D) fwafem ¥ |

AW | SeaEd e §Ogied
ey HEe fogia o
fAfea & 1 s, QiR 5 wgha
1 HfcTierierT el & |

fper || ; Uidsel 1 Sooie Tl oA
ST Hehell |

BS

(A) (1) @@ (ID) ST W& |

(B) (I) @ (IT) T 7TeAd € |

(C) (1) W& & TAT (I1) ToAd & |

(D) (1) oI & I (1) TE € |
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24. Match the items in List — I and with 27. Select the correct sequence according to

those in List — II and select the correct the development of grammars :
answer from the codes : (A) Universal grammar, traditional
List — | List — 11 grammar, transformational
) . grammar, structural grammar.
a. Speech. i. Formal analysis of a (B) Traditional grammar, structural
processing sentence by grammar, transformational
. - computer . grammar and universal grammar.
b. Information ii. Pattern recognition (C) Traditional grammar, universal
retrieval grammar, transformational
c. Parsing i11. Stemming grammar, stmctural grammar.
d. Optical iv. Speech recognition (D) Transformational grammar,
structural grammar, traditional
character and text to speech .
recognition grammar and universal grammar.
Codes b d 28. The basic word order in Dravidian
a e ¢ . languages is
(A) iv i i (A) SVO (B) SOV
B) i 1 111 v (C) VSO (D) VOS
(C) i it v i
(D) i i iii iv 29. Match the items in List — I with List —
I and select the correct answer from
25. The notion ‘Transformational the cocli_eiztgivlen below : List— 11
Grammar’ (TG) or ‘Transformational . . St=
: , a. Language in culture i. Language
Generative Grammar’ (TGG) was first Planning
discussed by Noam Chomsky in . b. Linguistic change  ii. Historical
(A) The Sound Pattern of English, Linguistics
1968 c. Language in mind iii. Ethno-
(B) Aspects of the Theory of Syntax, ; ‘ ; linguistics
1965 . Conscious an iv. Psycho-
(C) Syntactic Structures, 1957 dleczlllberate change linguistics
(D) Current issues in Linguistic ng egr%g“age
Theory, 1964 a b c d
il i iv i
: I R (A) ' '
26. Match the items in List — I with List — (B) iii i iv i
IT and select the correct answer from (C) i1 iv i 1
the codes given below : (D) 1 1ii 1 v
List—1 List— 11 . .
a. Cognates i, Phonetics 30. In traditional dialectology  the

methodology involved selection of
graphy informants as :

L . (A) Mobile, rural older people
c. Speech Variation iii. Lexicography (B) Non-mobile, older, ]sureﬁ people

b. Speech Sounds ii. Dialect Geo-

d. Dictionary iv. Comparative (C) Rural non-mobile young people
method (D) Non-mobile, urban old people
Codes :
a b c d 31. Identify the odd item from the
(A) iv il i i following :
B) i iv i i (A) Idiolect
©) v i i i (B) Dialect
.. . . (C) Imperative
(D) 1 11 v 1 . ey
D) Mutual intelligibilit
g y

Paper-111 8 S-31-13



24, gt — 1 % AT B G — 11 /ST o a1
goferd T aen 99 f§T T B F Tq@T
Wﬂ&ﬂ'{ :
=i - | =t - 1

a. drh 1. I G a1 T
TEHHT 3o forgeTooT

b. AT ii. STREAT SR
T

c. WS F®EUU i, R

d. fifesher  iv. o SR 2
ARF e ¥ a6
LEaiENE]

HIE

a b c d

(A) v 11l i i

B) i 1i 1ii v

(C) i 1 v 1

(D) i 1 i1 v

25. TOARUMRSE  SAROT (@) ST
TIIRUTIRER WSTeh SATR0T (SISt st =l
e Aregeht + e e @ o 2
(A) TS A8 U 3 eI, 1968
(B) UWERH 31w & frerlt oifw faeem,

1965
(C) Taiees &Had, 1957
(D) e WIS 3 Teliaies e, 1964

26. gt — 1 & A7 & gEr — 11 & 711 °
FHfer T 7o A KT T He A we
Wﬂﬁ"? :

= - | =t - 1
a. I i. & fosm
b. IHETWA i, Tl A
c. IE AT i, eI
d. & iv. qerTee fafer
HIE

a b c d
(A) iv i i i
B) i v i i
© iv i i i
(D) il i iv i
S-31-13

27.

28.

29.

30.

31.

STHIT o Thre & gfte & Tel 559 9T

(A) TENME U, IRERE
RO,  TIACRUTRSE AT,
HTEATHe STehHI0T

(B) URHR® AThT, TR
O],  TIACRUTNRSE AT,
reiTHes TR

(C) URWRE® 0T, HEHiEeE
RO,  TIACRUTRSE AT,
HTEATHe STeHI0T

(D) YEACRUMRIS AR, SIS

THT, RN THIT,
Hrerifes SR

ST URER T 9ISt § STURYT 9153 3 :
(A) SVO (B) SOV
(€) VSO (D) VOS

gt — 1 & AT B gEr — 11 @ 9& "
gofera HIT qer A" 5T T we @@

= - | =t - 11
a. USHA BT i W7 RS

b. O e ii. ufdeTtaes
SICIERIE)

c. T H 9 iii. T
e

d. I H TG UG iv. FAEE-fasE

T e

(A) i i v

B) i i v

©) ii v i

(D) i @i i v

TRARe St fae o ufafy o e R
o GAATRTATS T =g ffed o 2

(A) 9MET 3H-STH aTet ATHIT FagaroT
(B) 7@ A% WifAd A Al T

FEIOT
(C) it e |Hd W@ aet JanTor
(D) X I W e et It g

frfetad o | sHet 78 i TEdT

S
a b c d
i
i
i

(D) URERE Tl
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32.

33.

34.

35.

36.

37.

Assertion | : Analogy brings about
regularity in the paradigm.
Assertion 1l : Analogy destroys the

paradigmatic regularity.
Codes :
(A) (I) and (II) are false
(B) (I) and (II) are true
(©) (I)i1s false (I) is true
(D) (D) is true (1) is false

Kota, Toda and Kui languages come
under :

(A) Central Dravidian group

(B) North Dravidian group

(C) South Dravidian group

(D) Tibato-Burman group

The term isogloss is associated with

(A) Lexicograpy
(B) Graphology
(C) Dialectology
(D) Pragmatics

When linguistic forms of genetically
related languages show phonological
and semantic identify, they are termed
as

(A) Relic forms
(C) Antonyms

(B) Synonyms
(D) Cognates

A term used in linguistics, referring to
the quantification of the extent to
which languages have diverged from a
common source is

(A) Geographical linguistics
(B) Glottochronology

(C) Analytical linguistics
(D) Areal linguistics

A language which is characterized by
words typically containing linear
sequence of morphs is termed as

(A) Isolating language
(B) Synthetic language
(C) Agglutinating language

(D) Polysynthetic language

Paper-111
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38.

30.

40.

41.

The study of a language at different
points on the time dimension is called
(A) Synchronic (B) Diachronic
(C) Contrastive (D) Descriptive

Assertion | : The comparative method
is a technique which allows us to
trace back to the earlier stage of
the languages. These languages
are related and belong to the
same family.

Assertion Il : The technique involves
to compare alternants of a single
language.

Codes :

(A) Both (I) and (IT) are true.

(B) Both (I) and (II) are false.

(C) (D) is false, but (II) is true.

(D) (D) is true, but (II) is false.

The notion that India is a linguistic
area was proposed by

(A) Peter Edwin Hook

(B) M.B. Emeneau

(C) P.B.Pandit

(D) Collin P. Masica

Match the following with the items in
List — I and in List — II and select the
correct answer from the codes given
below :

List -1 List— 11
Proficiency 1. are administered at
tests the end of the course
Diagnostic  ii. measure people’s
tests ability in a language

Placement iii. are administered to

tests identify student’s
strength and
weakness
Achieve- iv. are used to assign
ment tests students to classes at
different levels.
Codes :

a b c d
(A) i ii iii iv
B) ii iii iv i
(C) i v ii i
(D) iv ii i il
S-31-13



32.

33.

34.

35.

36.

37.

afieper | Tey wuEet § Hafaar
AL |

St | : T, TUEETd
B TZ FATE |

FIS

(A) (1) T (1) T € |

(B) () @ (II) W& € |

(C) ()T &, (II) W& € |

(D) () W& &, (1) T & |

AT € 2

(A) FHEfas T °
(B) IWslas @ #
(C) heoT STag ¥ |
(D) foesrdi-=mt gg

T | L@ (TEEr) HEey
frag & 9

(A) HITTHEAT

(B) difew fagm

(C) drett fosma

(D) GehdvanT fasm
SETTSRAT & 3TYR U Fated st &
qOUNT 0 Fo @EHe aer ISreTd
T URHTT d § A S ®Al Sl
T ST & 9

IR ¥ IR U ¥ S HETeeh €9
Tg T T & o W U QIR A
Y ferer e e Wew TE & 0

(A) HiTiTeTs refer=iT

(B) TTehTeTsRA fosTH

(C) faveiouTeTes rofas

(D) & syeTfasT

TH UHl 9O B T wed ¢ fSTEe!
faferear 399 we w4 & Faw w9 9
o] ITS3T T URHRT et & 9

(A) STITCHS AT

(B) TYCTYUTICHE ST

(C) AN AT

(D) TEETATUTCH ST

S-31-13

38.

30.

40.

41.

FHeT-MAM & A= foget © 9 &

ST I AT T © 2
(A) UHHIAH (B) I
(C) AT (D) faerRoTeE

AfWHYA | ;. qorrenss fafy, amnsti =t
AR STIEATST I TaT AT ot
TFh dode & | I 9Ul WER
HeTd q97 Teh WI-UReR 9 Getad
B E |

AfvmeT 1l ;. 39 dEs 9 el 9o
faete & fafa=1 & it qorr e
Hea e |

——

(A) (1) T4 (I1) T W& & |
(B) (I) @ (IT) ST 7TeAd € |
(C) (1) ToTd & IR (1) TE & |
(D) (1) W& & W= (1) Td ¥ |

g YN o WRT Uk WA &85 © —{ohdeh
FRT TR Y TTE 2

(A) X TSaA g

(B) wHEL T

(C) drat ufved

(D) i o, Tt

gat — [ 0 /ST @ g — I @ AR o

gofed ®ifsT @ = fie T He #

e ¥ HEl I AT

=i - | =it - 1

a. VAU i IGASHH i HHIE 0T
TRpeoT fopar ST € |

b. RIME . WA H A
TRFEoT fopar ST € |

c. THHUE {ii.BEN % T 3

TpeToT Tt el 1 Il SR

% ferT fpan ST & |
d. SUAT  jv.THH IUAT DET H
TRieToT fafiy=1 & =l et
T 95 % fou fear
SEAe |
S

a b c d
(A) i ii iii v
B) i iii v i
(C) i v 11 i
(D) iv 111 1 ii
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42.

43.

44,

45.

46.

The ability to deal adequately with a
written system of communication is
known as

(A) Orthography (B) Literacy
(C) Computer (D) Illiteracy

In the language of mass media the
communicators strategies are
sometimes ‘responsive’ and sometimes
“initiative”. The ‘responsive’ strategy
is known as

(A) Audience design

(B) Audience choice

(C) Audience preferences

(D) Style

The stage theory of ‘Cognitive
Development’ is a description of
cognitive development as four stages
in children. The originator of the
theory is

(A) JeanPiaget (B) Bernard Weiner
(C) N.Chomsky (D) B.F. Skinner

Classical conditioning is a reflexive
learning in which a stimulus acquires
the capacity to evoke a response. It
was first described by

(A) N.Chomsky (B) Ivan Pavalov
(C©) B.F.Skinner (D) A.Bandura

Match the items in List — I with those
in List — II and select the correct
answer from the codes given below :

List -1 List— 11
Intra lingual i. Translation from
translation SL to T.L
Interlingual  ii. Translation within
Translation the same language

Inter semiotic 1iii. Translation of the

translation verbal sign by a
non-verbal sign
Interpreting  iv. Transferring ideas
orally
Codes :

a b c d
(A) 1 1 111 v
B) i 11 111 v
(C) i il 1 v
(D) v i1l ii i
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47.

48.

49.

50.

Catford was very much criticized for
his linguistic theory of translation. One
of the most scathing criticism came
from

(A) E.Nida

(B) P.Newmark

(C) Snell — Hornby

(D) Pym Anthony

The source text and target text words,
triggering the same or similar
associations in the minds of native
speakers of two languages are known as
(A) Dynamic equivalence

(B) Null equivalence

(C) Formal equivalence

(D) Textual equivalence

Grammatically plural nouns that have
no corresponding singular forms such
as “scissors”, and “spectacles” are
known as

(A) Pluralia tantum

(B) Pleonasm

(C) Polar autonyms

(D) Polarity

Match the items in List — I with those

in List — IT with the codes given below:

List— 1 List—11

Locution 1i. A sentence with
grammatical structure
and a linguistic

meaning

Illocution 1i. The effect of the
speech act on the
hearer

Perlo- iii. The speaker’s

cution intention

Expre- iv. Speaker’s psycho-

ssives logical state or
attitude.

Codes :

a b c d

(A) iv ii i il

B) i iii il iv

©) ii i iii iv

D) i i i iv
S-31-13



42.

43.

44,

45.

46.

SRR U A ol AT hl e &
(A) avf fa=mg (B) e
(C) FX (D) feRar

SH HUR H 9T W GOl i
T HH-H U HA oAl Bl & |
SFfShATCH T T e &

(A) ST Sfgehed  (B) ST S OEE
(C) ot =RFam (D) et

TTHTcHe foehrd & 3Tere f9gia ol Geyg
T H OIS g @ 9ue 9r
Eee & 1 4 == 9 ¢ | 39 faga
1 Yercieh i & ?

(A) SHfyeme (B) e o)
(C) wWargs (D) U f R

% g1 IR | I8 T 3q Bl &
Toh 9% SO o STRRAT S 1 &T9aT ST
FTT | SHHN VA T T BT & 2
(A) TFEwEsE (B) @ Eeld
(C) & R (D) U &g

Tt — 1 %t |1 % 9T G — 11 Bl /a1 B
ﬂﬁﬁﬁaﬁﬁﬁiwﬁ%%@wﬁ@aﬁ
ST T TIT HIT :
= - | = - 1
a. ofd: W SFAR i AT 9o F A
AT § A
ii. 76 & W "

b. AU AR

S RIS
iii. eTfEss  Wehd
FRT Hirgsh Gohd
T AR
iv.df@gws w 9
foam & 3FaRd
T

c. 3iagiehide
AR

d. &

a b c d
(A) i i il v
B) i il iii iv
© i i i v
(D) iv il il i
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47.

48.

49.

50.

HTHE F WU AR HFd & BRI
3TN Tgd AT il T | Y F Had
He SAED &
(A) 3 ARen
(C) = et

(B) i =ETh
(D) iy gt

Hid T8 AR 7T TS % v, e J
9TTat o HIGHIET o 9 | U & 3rerEr
(A) IR T

(B) e Fqeaan

(C) wUrHE: FHIA

(D) U™ FHqeHT

Tl RIS SgeE OF, S hie
AgIEdl UhdEd ®9 &l el €, e
“scissors” 3T “spectacles”, 3% Ted &
(A) R Feq (B) VIssiys
(C) dioR el (D) gadn

e 5T T e B Werar @ g —
Hal i FeT — [1 Sl 7&1 B F< B Tl
T gHferd i

= - | = -

a. TEIE i, TH TH e,
S iy
T 3R T
e |

b. TAARRH ii. ST W A RAT
T T

c. WOHIYH  iii. T HT W

d. AVESTE v, T H
EEICRIIECATIN]
1 T

a b c d
(A) iv iii i il

B) i i i v
© i i i v
D) i i il v
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ol.

52.

53.

Match the items in List — I with those
in List — II and select the correct
answer from the codes given below :
List-1 List— 11
a. Meronymy i. The word referring
to the whole

b. Holonymy 1ii. The word referring
to the part
c. Hyponymy iii. The word referring
to the kind
d. Hypronym iv. The word referring
to the inclusive
category
Codes :
a b Cc d
(A) i i v il
(B) ii i iii v
©) iv il il i
(D) i v ii i
Match the items in List — I with those
in List — II and select the correct
answer from the codes given below :
List— 1| List— 11
. Lexical ambiguity i. I will meet you
in the bank
. Grammatical ii. Ship sails today
ambiguity
. Both lexical and iii.The chicken is
grammatical ready to eat
ambiguity
. Hyperonymic iv.Why don’t you
Interpretation bring a friend
Codes :
a b c d
(A) i il ii v
B) iv i i il
(©) i il i v
(D) iii il v i
In the sentence “Manmohan Singh arrived

in London this morning. He will address
the meeting tomorrow”, the type of
anaphora used is :

(A)  Coreferential anaphora

(B)  Non coreferential anaphora
(C)  Cataphora

(D)  Zero — anaphora
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54.

55.

56.

57.

58.

The principle that states that the meaning
of a complex expression is a compositional
function of the meaning of its parts is
known as

(A)  Semantically opaque

(B)  Principle of compositionality

(C)  Principle of non-compositionality
(D)  Prototypical

‘Move’ in computational linguistics is a

(A)  Last report operation
(B)  Costly operation

(C)  Optional operation
(D)  Universal operation

Transfer method assumes

(A)  One intermediate stage
(B)  Two intermediate stages
(C)  Three intermediate stages
(D)  Four intermediate stages

The different word-orders of languages are
the result of

(A)  Universal grammar
(B)  Absolute universals
(C)  Parametric variation
(D)  Native competence
Match the following items in List — I
and List — II and select the correct
codes given below :
List—1 List— 11
a. Comparative i.  Historical
Method Linguistics
b. Participant Obser- ii. Field
vation Method Linguistics
c. Direct Method iii. Ethno-
Linguistics
d. Method of eliciting iv. Language
data teaching
Codes :
a b C d
(A) i v il il
B) i v il i
<) i i v il
(D) iv il il i
S-31-13



51. i ST T % ¥ g — [ H AT B
g — I1 ! 7T & GHA DT
= - | =t - 1
a. WFEE . GHadT w1 §dH
T 9T
b. TONFHED il STRTRAT H A
ST I
c. TRUMHEN  {iii. ¥R &l S arel
I
d. BENHE v, TEEET S H A
AT 915
FT !
a b C d
(A) it 1 v 111
(B) 1 i 111 v
©) iv i i i
(D) i v i i
52, ™ U T p & Gt — [ B TN B
gt — I1 ! 7T § GHAT DT
= - | =t - 1
a. YMs®H i § g §% o
FRRCI faefm |
b. SAERUE ii. I ST e
FAGHA FATE |
c. WIS 3R il I S @H F
AROTH AT U IR T |
FRRENI
d. eRTHE iv. 319 o = =
=TT Tl AT |
FT
a b c d
(A i i i v
B) iv i i i
) i i i v
(D) i i iv i
53. “THRA T8 oIS gaE @ed AW E | A
FA d3eh Bl Galad B 0 TH I |
TR TR €
(A) T TERYT SR
(B) W HERYT SR
(C) TesE
(D) ¥ FARY
S-31-13
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54.

55.

56.

57.

58.

STt fagia g8 adm € i Sfea sifveafa
T 31 T ST & 37 H GASH F F,
I FEd &

(A) TTETY Y ST

(B) G T a5

(C) TGS 1 5T

(D) WRife®a

HIUTH TR | “Move” €
(A) 3w R 3ieH

(B) HRZEA SR

(C) AT TRIH

(D) IFEHA FRIH

iRy fafy AT &

(A) TH HrEAHE STaen
(B) T HTEATS et
(C) <= Areafyes staemd
(D) =X AT et

qret & O sk FEtarad &

(A) TEHH STHT
(B) Ul @it
(C) WRmfes fafaear
(D) TTF-uTST Hred
& — 1 & #/ei & g — 11 ¥ gafed
HIT AR e ST Fl T el e 1 T97
WWW
= - | =t - 11
a. doFias fatg i ufdqefas
AT

b. Uit vetor fafyr i, ei-rentam
c. ¥ faty iii. JI-

B) i iv il i
) i il v i
(D) iv i i i
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59.

60.

61.

62.

63.

Assertion | : Language loyalty means
devotion to preserve the use of a language
or the traditional form of a language.
Assertion 11 Many first generation
immigrants to an alien country are
extremely loyal to their first language, but
their loyalty may go on decreasing in their
children and grand-children.

Codes :

(A)  Both (I) and (II) are true.
(B) (D is false, but (II) is true.
(C) (1) is true, but (II) is false.
(D)  Both (I) and (IT) are false.

The classical language which has been
revived and remarkably developed in
modern times is

(A)  Vedic Sanskrit
(B) Hebrew

(C) Latin

(D)  Homeric Greek

A distinction between the ‘elaborated
code’ used by the middle class and the
‘restricted code’ used by the working class
people was made by

(A)  Dell Hymes
(B)  William Bright
(C)  Basil Bernstein
(D)  Peter Trudgill

Give the logical sequence of the four
parameters of languages planning :

(1) Acceptance

(i)  Selection

(i11)  Elaboration of function
(iv)  Codification

Codes :

(A) i i iv i
(B) i i v il
(C) il i i v
(D) i v i il

Assertion | : Spoken languages go on changing
whereas their written forms lag behind.

Assertion Il : Standardization of scripts
becomes due in course of time.

Codes :

(A)  Both (I) and (II) are true.

(B) () is true, but (II) is false.

(C)  Both (I) and (IT) are false.

(D)  (I) is false, but (II) is true.
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64.

65.

66.

67.

A phrase structure rule specifying the
immediate subconstituents of a given
syntactic category or phrase-type is known as

(A)  Context sensitive rule
(B)  Context free rule

(C)  Context-free rewrite rule
(D)  Case assignment rule

Arrange the following in order in which

they appeared. Select the correct answer

from the codes below :

(1) DP Hypothesis (ii)) SS Model
iii)dX—bar Theory (iv) Aspects Model
odes :

(A) 11 A 111 1

(B) i1 iv 1 il

©) i i il v

(D) v il it i

Match the following with List — I and

List — IT and select the correct answer

from the codes given below :

List—1 List— 11

a. Intransitivity 1. ram ne sita: ko
bula: ya:

b. Transitivity 1. ram cae pi: ta:
hai

c. Double 1il. ra:m sota: hai

Transitivity

d. Ergative iv. ram us ko

paise deta hai
Codes :
a b C d

(A) i ii il v

(B) iii i v 1

(©) v i il i

(D) i1 v 1 il

Assertion | The hierarchical

structure of the word ‘foolishness’ can

be presented as the following :

(((fool) Root + (—ish)DA) Adj. +

(-ness)DA) Noun

Assertion 11 The hierarchical

structure of the word ‘foolishness’ can

also be presented as the following :
Codes :

(A) Both (I) and (I) are dis-
advantageous.

(B) Both (I) and () are
advantageous.

(C) (I) is advantageous and (II) is
dis-advantageous.

(D) (1) is disadvantageous and (II) is

advantageous.
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59.

60.

61.

62.

63.

iR | W e @ aed & o
% SYANT I TR & Ul FEIOT AT
T & YIRS &Y Dl & & Ui
TqEYOT |

afvepa |1 ; foRel O vardt g wew
Uifgdl SO UEel W % uid 3id
freEm gidl & it S =
;ﬁ?qﬁa-tﬁﬁﬁﬁa%ﬁwazw»—cﬁ

|

%

(A) (1) 3T (1) S W E |

(B) (1) TeTd & Afh (1) el € |

(C) (1) W&l & oifeh (II) Tord & |

(D) (1) 3R (II) 3T TeAd & |

Fetaent oo, 59 qestitea foar @ &
3R ST eMyfes 99 | Sooiad 9 H
%IWFHFTE%%,G%'%

(A) dk®E=Fa (B) g

(C) e (D) e dew

e T GRS T e’ 3R IR
T R W Wit $ | el ¥ 9
ToReTeh 5T 91 FeRalT 71T 2

(A) T &R (B) faferaw smee

(C) a9 aFersd (D) WX geie

T FRIST & IR ATEel T b Y
qddrgy

(i) Pl (i) =T

(i) UPE-fTER  (iv) HireHO
&<

(A) i i iv i

B) i i v i

(C) i i i v

D) i iv i i

AWy | ; Hifgs 9o SEodl ®dl €,
STeifeh 3T foifiad &9 Use SIar & |

At 1l ;. A &1 A
T HATEIAT T |

%

(A) () 3R (1) 3T LT € |

(B) (1) Te &, wAfeh (I1) Teral € |

(C) (1) 3R (1) 3 T € |

(D) (1) TTeAd &, WAk (I1) W& & |

S-31-13

64.

65.

66.

67.

T T AU A U UK H AEA
STEEEh i T S dlet U8 |3 T o
a9 =i wea €

(A) w7 gadt Iy

(B) WET e FEw

(C) v e qora Fad

(D) ®R& AR FIH

Ffafed & 39 9 § oeg, N 9
THE B & | A ST T Fel | Fel I

T I HIT

() S EETetaE
(i) THLE AigA
(i) X IR &
(iv) ST Hiee
A
(A) i iv il i
B) i iv i il
C) i i i v
(D) iv i i i
frefefad g=t — 1 o = — 11 &
goferd T 3R = T T $e & et
I T T HIT
= - | =it - 11
a. STRUSAT i TH A HIAT W

AT |

b. FHHHM i THEE AT E |

c. TE-OFpuFar . T IATE |

d. wfea iv. T\ IHH o
IATE |

FHT

) a b c d
(A) 1 ii il iy

(B) il ii iv i
C) iv il ii i
(D) it iv i il
AWHIT | : “foolishness’ g hi

MY AT H FHfetEd & w9
o R TR ST wekdn § (fool) o1
+  (dsh)grwy fewmor + (-
ness)DA) G

afie 1l : ‘foolishness’ ¥5 i
MR TLEAT i AT & &9
o ot U fohan ST b € |

R . .

(A) (1) 3R (1) I Ufefspe € |

(B) (1) 3R (I1) ST TP € |

(C) (1) 3FFA & 3R (II) Wfeiper & |

(D) (1) Wicieget & 3 (IT) 3FFA & |
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68.

69.

70.

71.

72.

Typologically NIA languages can be said
to be characterized by the non-universal
phonological features :

73.

Match the following List — I and List — II
and select the correct answer from the
codes given below :

Paper-111

(A) Bilabial, Dental and Uvular ok e
(B) Retroflexion,  Aspiration  and List -1 List—1I
nasalized vowel . Little attention given 1. Direct
(C)  Velar, Uvular and Dental to pronunciation approach
(D)  Labio-dental, Uvular and Velar _ Mother tongue is 5 Grammar
Austro-Asiatic and Dravidian languages never used Eil}llﬂgtlon
do not exhibit ctho
(A)  Ergativity (B) Negativity . Priority in studying  iii. Audio-lingual
(C)  Affirmity (D) Causative the TL is first, reading ~ method
ability is second
§1nce Ele South Asian languages except . Principles of beha- iv. Reading
Khasi” are verb final languages, they :
share viour psychology approach
(A) a number of word order universals Codes :
of SVO languages b d
(B) a number of word order universals a ¢
of SOV languages (A) 1 i v il
(C)  a number of word order universals B ) .. .
of VSO languages (B) i 1 m v
(D) a number of word order universals (C) i v i il
fOVS1
© anguages D) v @i i i
In Tibeto Burman, Dravidian, Bengali and
Marathi the negative occurs 74. In Santhali ‘manjhi’ means ‘headman’
(A)  Post verbally o .
(B)  Pre verbally whereas mapanjhi means its plural
. form i.e. headmen. This is an example
Egi Ilil/[(iiev z;btilelyabove of
‘ o . ' (A)  Prefixation
Match the items in List — [ with the items _
in List — II and choose the correct answer (B)  Suffixation
from the cc_)des : _ (C) Infixation
List—1 List—11 ' '
a. sing —sang 1. zero modifi- (D)  Simulfixation
cation
b. sheep —sheep (PL.) ii. ablant 75. ‘Teach language, not about language’
3- cat — catst 1t S‘f‘fl?pl?lon is one of the basic tenets of
. go—wen iv. affixation
Codes : (A)  Direct method
a b ¢ d (B)  Audiolingual method
(A) 1 i i1 v
(B) iii i ii iv (C)  Grammar translation method
© i i v i (D)  Communicative method
D) v 1 11 1
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68. ITUEMT WM faeiudnt wureHs gfte 73. gE - 1 % g — [ ¥ gafed Hie i)
Y T YRAE S e o I T T P T W SR B T
T S € HIT ;
(A) f5-37r2g, 3= 3 3TeAtTead ~ B
(B) HH=INHRUT, HEMUIE SR A T - -1l
T 2. SR WHH IHE 1. TIe
(C) haF, TcATgad i T ERISIE ERlu]
(D) S, SreAioTesd SR had b. IS HT AR i, SHEROT-
60. sTLTREE o s mwst o oA T ST o
effad 5 & 791 T/ £ 2 C. TR 9T & 3T iii. S
(A) TfefeR (B) TehRIeHeal T MIfEeRaT 3T faf
(C) THRHwaT (D) RS TS AT i THOT
70, dfF cmmr % faam o R d. W R & iv. IS U
qrreT | fRAT Ugey i W o €, of: T
3T P RITdTd 99 €9 | 918 ST & T
(A) SVO 93T & I oA HEHH a b ¢ d
(B) SOV 913t & ¥1e3 354 Qradm . o
(C) VSO Wit % wrss s wrei (a) i i dv i
(D) OVS 93T & I o FEAH B) 1 i v
71, P sfe amen @v wEr @ (C) 1 v 1 1
TR 37T & (D) iv 1ii 1 1
(A) TP e
(B) Tt d et 74, <rch e @ ond & i,
(©) méﬁ‘_‘fﬁaﬁ ‘ “qufer 1 31 & TR g T 3T
(D) ST e T HEGATATT | T SR &
72. Hjﬁ—lﬁlﬁﬂﬁaﬁ@—ﬂ?ﬁﬂﬁ@ (A) Yd UET F
e o s A fog e et @ )
3T hT I hITT
= - | e - 1 (C) =R wegd
a. sing—sang i. v forpet (D) GEET T
b. sheep —sheep(Pl.) ii. st@sd
c. cat— cats iii. Tafer
d. go—went iv. I eRToT 75. ‘oW fg@@, 9o % SR 9 @’ I
T TreAferfad o & forash! Jot T € 2
a booed (A) e forfer iy
(A 1 1 111 v
B) i i i v (B) iy fafy =6t
) i i iv il
D) iv i i (C) =37 fofr 1
(D) GuT fater st
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